De angivne kilometreringer ved baliserne md ikke anvendes.

NOTE:

STRAKNINGSNUMMER 014034

ATC-RETNING Ro-Rg=b
ATC-RETNING Rg-Ro=A

— 060°€Y

— 02LeY

— 5897y

L AA

— 9LL'eY

— 9€0'ZY

— 268°1Y

— 88LLYy

— 888'6¢

— 889 6€

— ELY'6€

— SYL6E

— 6%0°6€

— [S8'8E

— 666'LE

— IY6'LE

— 987°9¢

— CEL9E

[ +0.95 | +h 40 | +303 | +334 | +583 | +301 -331 | -5.40 | 282 | -350 | -310 | -347 ; -374 | -588 ; 000 | +118 ; 012 | 076 | +013 |

— €60'9€

+3.58

— €0}'SE

+3.36

— I88°EE

— 68G'EE

— E9SEE

— L0 €€

— LEEE

~ 766 TE

— 0L6Z€

— 006Z€

— 9LLZE

— 8SE'ZE

— 0S6'LE

| 000 | +017 | -218 | <142 | ~078 | -2.08 | <137 | -0.59 | +2.00 | -2.42 | -0.56

— 0%9°0€

180

- Z90'LE

180

180

CELES

00€°ZE

€102¢

Hytte 1418

Hytte 1397

Hytte 1376

Hytte 1359

Hytte 1340

Hytte 1329

Hytte 2327

(4@SHON)

AdIA

A_V 108l

SPORNR

888 —

(H NAVHNI9oM)

A07IXS0d

SPORNR.777 —

ﬂ o~
m - .
00814 < | 008 L7
O <+ ~ @
) € m
Sl =k 2 4
SR e )
o | a ~F e m -~
- = =5 g I ey
= B 2
- > 4 Anlu.
H % Y ~
o - =
@ E 9
- e 6851y
6851 "
A = 19
8851 £ L S ZNE9SLY
VL 6€ < &
=
SOL'6E H
= q S N
2 = 4 +H .mn
= =~
<< o pd = =
- b & A
4 099
LN g S 4 SEY6E
Q
B m
" g
995°LE -F =
4 s |
045 LE < o
© N o
=1 - =
o
=4 = © <=
<€ = & 2 <
T T _ -oo8'Le
© Q
3 R 1TV
s m
A< = =
m
968'SE W = T F
55 1
068'S€ —k S s [ath
L2 o ~| M
N = N 4 =
mls| 4 —k w <>
i< - 3 <t
=l ]e 3 A 068'S€
< 3 “
...n PR Iy %
d 4 SS8SE
o ~ <
2 LB
o = Iy
2 D o5
S & W 966 5€
o~ o
920'4€ ~ &
3N A
3 N
WIEYE = o a O
o A - &
000%€ < <M
o < Y H B
~ ~ < =
mi= N ® <
i< -
=l 3 - 0007€
<< e
T —= DU 7733
P, -~
= - m
696 76N 3 -
v q o Amem.Nm
m
< E-F
sz [ 5 = =
626'2¢ L 1262 —
3 9 2
h—4 2 N4
=< . B =
8 g > s g
-+ < H o] —X O
~ -
. N
= £9L°2€
” LD
9 = g
BEL'TE BELZE

180

Hytte 2416

Hytte 2397

i

Hytte 2378

vl

180

Hytte 2359

Hytte 2340

180

(U2327)

140

&
el
(73
M ~
@ hasl
nm S
[
~
[
I
£es
Z58
2 Eo§
5 888
% 2o5
s £ c
g 2£8 s
) o0
>
8g ©
>'c o)
g + X Yo
) o 8 .
3 = —
O 2R c
£s ge N~
532 (g% W
E= ¢ % &
L e = o
2 &8¢ K 3
s 1= |8 4«
? x| 99] =
< @ ~4 3 M
> = | X1
g |52|2® 4 =
- o ®© m B x| e 3
@ MN A..m @ £ M \M m/.w
8 & = & AR R k) m =4
538512 |52|5|aal® w
>al< 8|0 o o|3|Qale ©
EIFE
2 .nl.la = = )
© e £/18/3|5
= g piafs|a]
T o |T|5|81¢
< I
Fo ] - DN —EN
-] B
v Awl 128
® ¢ |g|g|5| &8
© FERE R
e |3|2|dlead
S96'1y —— 69824
8
<
——0E9'TY
~
=
<
— 09Ty
S
<
— 1NTTY
-
A
=
F
—+ 19Ty
=3
=
— 7802y
23
m
+
Ak
o
<
m
+
—- szl
=
m
+
——STT 0y
e
iy
— 0L 0%
R
m
+
—— LLL6E
0
0
m
+
—— E45°6€E
n
m
+
~1— SZL 6€
o«
=
w
—— €50'6€
0
m
m
3
—— 918'8€
&
ai
— 695°8€
~F
3
<
—— L6E°8E
§ e
7
—— 110°8€E
N
u
—— U6'LE
o
&
m
—+ L9 9€
~
@«
i
——420'9€
S
m
i
— 0E%'SE
O
m
m
i
~— 098'E€
&
S
—+1Lee
2
<
—— LE9EE
X
~F
+
— Z65°€€
(=]
3
N
—+ EISEE
2
5
—— L40'EE
o
3
o~
.*o
~+ LLO'EE
&
2 >
—- 006'Z€
o "¢ o
% =
—- 9LLZE i
e L
+ (]
e 1
, S v
00€°Z€ —— 0S6'LE W
3 o
<
400°Z€ —-o%9°0¢ o




